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Challenging reading and comprehension Unit 4

Answer key

Comprehension 2

1

10

11

12

13

stressful

smooth

dancing

i) undeniably

ii) advance

iii) dawdling

like a sleepy snail

Lamma and Cheung Chau
by visiting the MTR website
astound

The ferry thinks that people do not want to travel underground because they cannot see
the best scenery. (any reasonable answer)
| think it calls itself ‘a souvenir from history’ because it reminds people of the past.

(any reasonable answer)

The main idea of stanza 6 is that the MTR is a fast and modern type of transport while the

ferry is too old and not suitable for the future. (any reasonable answer)
i) MTR

ii) ferry

iii) Ferry, MTR

personification

A

| think the MTR is superior as it’s much faster and you can travel everywhere in Hong Kong
on it./I think the ferry is superior as it’s relaxing and you can enjoy the scenery while riding

it. It is also an important symbol of Hong Kong’s history. (any reasonable answer)
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